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Subject : Mathematics
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Note : Attempt all questions,

o g ——

A e

ek e ) srvasa €
Grraph paper is required.

_raTy (Agvr 2 () HEgoret ¥ g o) sepefan 1t &y
General Instructions Use ol calculntor is not pernmitted,
(1) wer witw 1 ¥ dr1 woe B ave (1) 4 wgberetm am, mre

(%) ¥ Powr earil 4} ybd am g (1) # T q0m fon i %
WA Y 1 b s ¥ )

Question No. | has three parts, In Pan (A) Multiple choice
questions, in Part (1) Fill in the blanks and in Pan (C) Write
true/ fulsc are given, Each question carries 1 mark.

(iti) 961 BUlF 1R 6 Wk wfvegaata ww € | vy yva 2 #HF
amiifen &

Question Nos. 2 10 6 are very shont answer type questions.
linch question carries 2 marks,

S-2C+ PT.0.
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(iv) W Wi 7 waqiaﬁﬂﬂ“ﬂ“mg'mmmsw
amafea )
Question Nos. 7 ¢, 10 arc very short answer type questions.
I:ach question caryicg 3 marks.
(V) T T 1% 14 g gIwa WA & WA $ H A
famea ¥ 1 W@F wey @ 4 3 smafed €
Question Nos. 11 to 14 are short answer type questions. ach
question has an internal choice. Each question carries 4 marks.
(vi) T i 15 T 16 et e § | e W st fawed
® 1 UF W W5 3 omafra €1
Question Nos. 15 and 16 are short answer type questions. Each
question has an internal choice. Each question carries 5 marks.
(vil) T 1% 17 T 18 Gefartra 7o § | v WA A rjafien faaes
¥ VAF Y W 6 af itz ¥
Question Nos. 17 and 18 arc long answer type questions. Each

question has an internal choice. Each question carries 6 marks,

}

(@ve-31) w8l fawey e foafa ;. -

(Part-A) Choose and write the correct option :

WO dUIUOPIROGSI Mmm//:dny

() TEPEx)= 22-3x+6 B, A PQ)H 5= M : (

(3n) 4

() 6

(%) 8

(F 4

If P(x)= 2x?-3x + 6, then the valye of P(2) will be :

(a) 4

(b 6

(c) 8

@ -4
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rt e 4x - 4% 1 0% e v &
(3 0
(7 |
(d) 2
(%) 4
The value of discriminat of quadratic cquation 4x* - dx + 1 = 0
will be :
(a) 0
(h)y |
(c) 2
() 4
fag (-2, 4) fora et & ¥1m 2 (1)
(37) wum 9g4ia
() fedfta squta
(¥ Tira wquta
(3) wqd =quta
Point (-2, 4) lies in which quadrant ”
(a) First guadrant
(b) Second quadrant
(¢) Third quadrant

(d) Fourth guadrant
sin 30" * cosec 30° 1 WA ¥ : [1]

(3) 1
(# 2
(7 -1

() -2
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The value of sin 30° X cose, 30 will be :
(a) 1
by 2
() -l
(d) -2
(v) B e T R S R ey ot s W R A, @ s
= F forn < <9ife [1]
N TN o
(%) faqm
(®) 3w
(3) WA

If in fixed deposit the interest is calculated half-yearly, then rate of
interest per annum will be :

(a) double
(b) three times
(¢) half

(d) fourtimes \ = M

-1 (Eve-w) fe w9 gfd s
(Part-B) Fill in the blanks :
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M (S+)eR(V5-1)mammma. % [1]
The arithmetic mean of (JS + l) and (J§ - i) is

(i) AMRa:b:c @ MATIIRR ___ &M [1]
If a: b : c,then the mean proportional will be

(i) AFTTEATER TR E, AR ITHR W K [1]
Two circles are congruent, if their _______ are equal.

(iv) an(90°-33°)®Mum __ da ey n

The value of tan(90° - 33%) is
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) émﬁwﬁﬂﬂaﬂﬂﬂkmh (1]
The sum of two even numbery ;. always
-1 (WUS-W) ¥ 3yl 3N ey .
(Part-C) Write true or false :

- !
() TigEETErERE S (1l

Circles of all sizes are similap

[1

(fl-] 1‘-Wﬂﬁﬂﬂmﬁﬁm.1hﬁémgﬁm?|5 ]
The y-coordinate of any point o v-axis is zero.

(i) FMH 7R @ §1  http://www.cgboardonline.com [1]

A cube has 7 edgcs,

(iv) ﬁmmmmmiuﬂ [1]

Service tax is an indirect tax.

) R P F D sl @ dm A A S At S (1

In a triangle, the sum of any two sides is less than the third side.

wylz AR (2+x): (4+0): (S+x) B, B x 7 79 70 T 2]
If(2+x): (4 +x):(5+x), then find the value of x.

-3 99 W faum gemsdi @ sived v Fif

(2]
Find the average of first ten odd numbers, '
-4 193 (6, 8) B e g A 0w wif [2)
Calculate the distance of point (6, 8) from the origin.
. tan15° g sfn3l°
!?-5 A Jd FIf +
cot75° cos59° (2]

Find the value of ; lan_l:l + sin31°
cot75° cos 59°

B,

§-2C+ http://www.cgboardonline.com
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wyH-6 A"—S.\'+650ﬂ?qﬁﬁﬂﬁmﬁﬁqgwmqﬂﬂm_| (2]

Find the sum and product of the rooy of

B=-5x+6=0

“’7/7 fag e fH (2 + 4P+ + A @D I W FA T AT I

?I

Prove that on dividing (2" + 47 +-3p.* 1) by

(3]
(y+1) the remainder

is zero.

wyA-g maﬁﬁqﬁﬁ%ﬁmﬁwmﬁaﬂmm4mwﬁm%l (3]
Prove that the sum of two consccutive odd numbers is always a
multiple of 4.

m.»t{ U g AT & ouR i ity 22 . ¥ ofz e o $=r 10 TR R,

@ AT T AFA FW@ HfC (3

~ b

The circumference of the basz of a right circular cylinder is 22 cm. If the

height of the cylinder is 10 cm, calculate the volume of the cylinder.

L

a7t Tl 3x? — 1 + 10 = 0 & &= i) [3)

Solve the quadratic equation 3x" - 11x+ 10=0.

I W W@ T gHE g #ifaw fage wavm % ¥ A T fag
(6,0)'ﬁﬂ'ﬂﬁﬁﬁﬁl ] [4!

Find the equation of that straight line which passes through the point

4

(6, 0) and whose slope is 3

.\-

rar
OR
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T AR 1 MR 5 e G srearn 1 919 fedli F 79 g0 Ag F A

= 1 2 3 4
TP AT (hd)] 4 [ 3 2 1 0

9 U A Y We0 aw e B Hen ¥ gay ada S

: : : table
A man filled 5 liters of petrol in the fuel tank of his vehicle. The

below shows the five days and the peirol remaining on those days :
3 | 453

Day 1 2
Quantity of petrol remaining (in ﬁ;;) 4 3 2 1 0

Draw a graph between the petrol remaining and number of days.

fog #if f6—*' v wwem fng 3§ w5 1 af 9w & st & i & 9m
F TR ML
Prove that—*"In a right-angled triangle, the square of the hypotenuse is

equal to the sum of the squares of the other two sides.”

areET

OR
TF g1 H1 B 20 Rt B 1 S o i g el F A 9 <@ 24 A
¢ 1 St &} g 9 Hifea)

The radius of a circle is 20 cm. The distance between two equal and parallel
chords is 24 cm. Find the length of chord.

(4]

e aneit #1 wiftas 3@ Fifag
Fai=w | 0-10 | 10-20 | 2030 | 30-40 40-50 | 50-60
g ] 12 24 32 10 5
Find the median‘of the fq"bwing table :
Class Interval | .19 | 1020 | 20-30 30-40 | 40-50 | 50-60 |
Frequency l 12 | 24 32 10 5
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Srerar
OR [4]
e w1 s s Wi
= | o0 | 1020 20-30 | 30-40 | 40-50 | 50-60
e | 4 5 16 12 J 2
Find the mode of the f'ollowing table:
i AT T 20-30 | 30-40 | 40-50 | 50-60
LFrcq nency 4 5 16 12 3 2
TT-14 2 ¥, fooar FEh ediﬁﬁwﬁfﬁﬁwmmmﬁwmwm%ﬁﬁaﬁ
v 3 Fifen [4]
A big sphere is made by melting down 64 small spheres, each of radius
2 em. Find radius of the big sphere,
' vergy
OR
AR T g ¥ s s 12 A won S 8 e, &, M ¥ Tl g
3R s W Fiferg
f di : : :
If diameter of the base of acone is 12 em and its height is 8 ¢m, then find
the total surface area ang volume of the ¢one.
we-

suchthat 4 = 2y,
S .3.;Q | |

'h’étp://WWW.c gboardonline.com

WO JUIUOPIBOQTO Mmm//:dy



WO dUIUOPIROGSI Mmm//:dny

http://www.c lg_ggbloardonline.com

3rerar
OR

ﬁ‘ﬁS{ABCﬁinﬁIﬁqﬂﬁﬁmmﬁgﬁA3=6ﬂqﬁ_, LA = 45°,

/B =60° & 1T ¥ g +ft fafaq
Construct a circumcircle of AABC, where AB =6 cm, LA =45% ZB= 60"

Write the steps of construction.

St 3 dors Jve d 4 200 7. v A X A 5 o ¥ forg el ST
w@mmﬁmaﬁﬂﬁ%aﬁmﬁmsa&msﬂﬁﬁﬁ AT W<
gt ? o

Vasim opened a recurring deposit account in Punjab National Bank. He
deposits Rs. 200 per month for S years. If rate of interest is 6% per annum,

find the amount he will receive at the time of maturity.

Huar

OR

fercita = 2013-2014 ¥ TF WA FHrar F o it A 3,60,000 . ©i |
391 20,000 . Sfae T G &1 e WfTan aw 4,000 %. wfaEE A

sy fify § < foran & 1 aft @ft Sdl W g+ sfiesam W 1,00,000 &

2 @ 27 e H TUAT ST

TRt Y <X FATTan R
. T qrg | WEFT R T |
1. |2,00,000%. 7 FE AH Y
2. 12,00,001 % ¥ 5,00,000%. 7% T 10%
3 (500,001 % % 1000000%. 7% | - 20%

| T Sifaftr, 37 STEH o 3% e ST T

(5]
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The income of a government employee in financial year 2013-2014 was

Rs. 3,60,000. He deposited Rs. 20,000 as yearly premium on life insurance
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policy and Rs. 4,000 eVery mongy in General Provident Fund. i @
maximum of Rs. 1,00,000 can be invested in any type of saving 10 qualify

for tax rebate, then calculate the payable income (ax.

The rates of income tax are as foljgys :

Sl. No. Tax Limits Rate of |
Tax |

1. |Upto Rs. 2,00,000 NIL

2. Rs. 2,00,001 to Rs. 5,00,000 10%

J 3. Rs. 5,00,001 to Rs. 10,00,000 20%

In addition, a 3% education cess has to be paid over the income tax.

A7  fag Fifaq fe

cosd + Sin(90°—9) = 2¢cot(90°-0)
sec(90° —0) +1  cosecd — | (6]
Prove that - ~
cos9 sin(90° —0)

= 2cot(90°—6
sec(90° —0)+1  cosech — 1 cot( )

raar
OR

mm@@wﬁsﬂﬁ“aﬁwﬁs%mﬁsﬁaﬁiﬂwmﬁw
%i%f?@aﬁ?@w“mmm%nﬁﬁgaﬁhﬁmaﬂma

A tree breaks to storm and the broken part bends so that the top of the trec
touches the ground making an angle 60 with it. The distance between the
foot of the tree to the point where the to

' p touches the ground is 6 meters.
Find the height of the tree,

trttp7#wwaw-egboardonline.com
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apn-18 W TR AR ¥ ) @ F AR o 55 5, €12 vdS A9 F e
W 1 T WERR w1, 2, 3 ¥, @ fog it i
S, + 8, =28, (6}
Sums of »# terms of three arithmetic progressions are S,, S.. S, respectively.
If first term is 1 for every progression and common differences are 1,2, 3

respectively, then prove that S, + 8, =25,
e
OR
gha ad ¥ oy W O FY Y I Rwph o) 7w T T A A WO
1 oy F R Q) I A T W W FdEE g @ R
5 years ago, | was three times as old as my son. Ten years hence, 1 will be

twice as old as my son. Find my present age and my son’s present age.
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